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1. Jerami is going to deposit an equal amount of money into a checking account each month until he has saved $2,000. The amount of money, y, in the account after x months can be modeled by the equation y = 35x + 250. What does the slope of the graph of the equation represent?

[A] The amount of money deposited monthly 
[B] The amount of money originally in the account 
[C] The number of months it would take to earn $250 
[D] The number of months it would take to reach $2,000 

2. Find the range of the function represented in the graph. 
[image: ]



[A] The range consists of values from -5 to 3. 

[B] The range consists of values from -4 to 6. 

[C] The range consists of values from -5 to 6. 

[D] The range consists of values from -4 to 3.



3. Which equation represents the line passing through the points (3, 2) and (–9, 6)? 

	[A] x – 3y = 9 
	[B] x + 3y = 9 
	[C] 3x – y = -9 
	[D] 3x + y = 9
[image: ]
4. 





A. 
B. 
C. 
D. 
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6.  Dennis compared the y-intercept of the graph of the function  to the y-intercept of the graph of the linear function that includes the points in the table below.
	x
	g(x)

	3
	-2

	5
	-1

	7
	0

	9
	1


	What is the difference when the y-intercept of the f(x) is subtracted from the y-intercept of g(x)?
[image: ] 	
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8. The math club sells candy bars and drinks during football games.
· [image: ]60 candy bars and 110 drinks sell for $265
· 120 candy bars and 90 drinks will sell for $270

How much does each candy bar sell for?


9.	Energy and mass are related by the formula . 
m is the mass of the object. 
c is the speed of light. 
[image: ]	Which equation finds c, given m and E? 
a. 
b. 
c. 
d. 
e. 
10. 

[image: ]
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11.
[image: ]12.	Which expression is equivalent to . 
a. 
b. 
c. 
d. 
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	28.  The sequence below shows the number of trees that a nursery plants each year.

	Let  represent the current term in the sequence and  represent the previous term in the sequence. Which formula could be used to determine the number of trees the nursery will plant in year ?
A) 
B) 
C) 
D) 
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31.







32. The coordinates for the vertices of quadrilateral  are , , , and .  Classify quadrilateral 
	A.  Parallelogram		B.  Rectangle		C.  Rhombus		D.  Square

33. Jennifer and Jane are best friends.  They placed a map of their town on a coordinate grid and found the point at which each of their house lies.  If Jennifer’s house lies at (9, 7) and Jane’s house is at (15, 9) and they wanted to meet in the middle, what are the coordinates of the place they should meet?
	A.  (12, 8)		B.  (7.5, 4.5)		C.  (3, 1)			D.  (9, 9)

[image: ]34. The graph shows the height in feet of a hot air balloon over time in minutes. What is f(6) =  and what does it mean in context?
	a.  f(6) = 400, it means the hot air balloon is traveling for 400 minutes.
b.  f(6) = 400, it means the height of the hot air balloon is 400 at 6 minutes.
	c.  f(6) = 0, it means the hot air balloon has not started traveling yet.
	d.  f(6) = 0, it means the hot air balloon is on the ground.



[bookmark: _GoBack][image: ]35.  The rule represents the amount of a drug in milligrams, which remains in the bloodstream after x hours. 
					What is 







		36.  Use the situation above. What does  represent in context?
a. Less than 6 hours have passed.
b. More than 6 hours have passed.
c. Less than 6 milligrams of drug are left in your bloodstream.
d. More than 6 milligrams of drug are left in your bloodstream.
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A triangle has vertices at (1, 3), 2, 73), and (*
perimeter of the triangle?

“1). What is the approximate

A 10
B 14
C 15
D 16




image4.png
CHAPP - WCPSS x Inbox x gridded response answer st x =l 2 )

€ > C A @htips://www.google.com/search?q=gridded-+response-+answer +sheets&es_sm =122&tbm =isch&tbo =U&source =univ&sa=X&ei =k IdOU_fXPMqlsATd74HwAgEved =0CCEQsAQEbIW=16008bih=78 Y¢| =

sops [ PonerTeacher i Webmal P Pandora Rado-Lten... [T] s Resder's class [ Gooole [N vahoo ) EasyIeP (newepss) [ PLT Minutes [E] LT Minukes (Respons... 3 ADKHS Tescher ks [[1] caep - wicpss

T _—— = B e —— -

lofolollofle]

0 3 2
DO o) i
DODID D e =
OODOS 55 S8
DODD|D| 23 o]
DD D ) ses)
OO D o] BeE]
eleolielts]

Se

Russell Kids Reach for Success

Visitpage  View image

Q0

QO
09
ol

0000000000
(©00000000

QOO0 [ |

elelelelolclelelele Il Il

000000000000
[ele]elelelelelelele)e)
000000000
elelelelelelelelele)
000000000
©O000000000Y

russelkicreach blogspo. com ——— / T 3 C [l | -

1 start| [€ gridded response ans... () HiCommon CoreMath 1| (=] Microsoft Excel - unit_7_.. | 5] Day 10 - Solving by elimi... | 1] Review Bellcrks (Apri 2...| 1] practice with graph quad... | ] Documents - Microsoft BABBEE sman





image5.png
Lucy and Barbara began saving money the same week. The table below shows the
models for the amount of money Lucy and Barbara had saved after x weeks.

10x + 5
.5x + 25

After how many weeks will Lucy and Barbara have the same amount of money
saved?

A 1.1 weeks
B 1.7 weeks
C 8 weeks
D

12 weeks




image6.emf

image7.emf

image8.emf

image9.emf

image10.emf

image11.emf

image12.emf

image13.png
The area of a trapezoid is found using the formula A = 1h(b, + b,), where A is
the area, h is the height, and b: and b2 are the lengths of the bases.

b, =x-3

by =x+7
What is the area of the above trapezoid?

A A=dx+2

B A=4x+8

C A=2¢+4x-21

D A=2¢+8x-42
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Monica did an experiment to compare two methods of warming an object. The
results are shown in the table below.

Time |Method 1 Temperature |Method 2 Temperature
(Hours) (°F) (°F)

0 0 1.5

1 5 3

2 11 6

3 15 12

4 19 24

5 25 28

Which statement best describes her results?
A The temperature using both methods changed at a constant rate.
B The temperature using both methods changed exponentially.

C  The temperature using Method 2 changedat a constant rate.
D

The temperature using Méthod 2 changed exponentially.
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Collin noticed that various combinations of nickels and dimes could add up to
$0.65.

«  Letxequal the number of nickels.
«  Lety equalithe'number of dimes.

What is the domain where y is @ function of x and the total value is $0.65?
A {0,1,23,4,56,7,8,09, 10, 11, 12, 13}

B {1,2,3,4,56,7,8,9,10,11, 12, 13}

Cc  {0,1,3,57,911,13)

D {1,3,57,09 11,13}
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Ris the midpoint of segment PS. Q is the midpoint of segment RS.
B

S

Pis located at (8, 10),.and S is located at (12, "6). What are the coordinates of Q?
A &2

B @79

c (L7

b @,
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Mrs. Morris gave her students this pattern of white tiles:

She asked her students to write an equation to represent the number of white tiles, ¢, for
any figure number, n.

‘Which equation represents the number of white tiles in the pattern?

0 A t=n+2

o B.t=n+4
o C.t=4n+4
0 D.t=4n+8





